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CHEMISTRY
( General )

Full Marks : 40
Time : 2 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following : 1x5=5
were frarae T for
(a) Arrange the following in decreasing order
of basicity :
e fIRRY TR WIS S SYETS
ACHE] :

ClO™, ClOg, Cl0O;, ClOj

() Why does H' ion show abnormal
conductance?

H* e R TR AR ¢ 2

(¢ What is the name of (CN),?
(CN) 3 2
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(2)

(d Why does CrOs give blue colour with
H,0, in presence of diethyl ether?

TR XWR-1 BT Crog@ R Hy0,3
#5re e 46 fea 7.

() Why is borazine called inorganic
benzene?

T wteR @A I e T = 2

2. What is inert pair effect? Why is inert pair
effect more prominent for the heaviest
element in a group? Discuss the inert pair
effect for Pb and Tl 1+1+3=5

i qu form &2 3ofs 1w Aorm cvae RiE
T foFn e gamsa 9?2 Pb 9% TIF (FdS
A g seem=n 40

Or / e[

Give one method of preparation of diborane.
Discuss the bonding and structure of
diborane. What happens when diborane
reacts with ammeonia? 1+3+1=5

SR @ Bl HES-ATA oran | SR N WE
T R e 41 ORREE @R Gre
Rferm 3R & R 32
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(3)

3. Answer any two of the following : 5x2=10
Tere A R e gor e fore
(a) - (i Explain with reasons : 1x2=2
1R iR T 10

(b)
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U]

(1) Why nitrogen cannot form NClg
but phosphorus can form PClg?

TE'tmA 7 NClg s@e IR
R e ¥=FIMWR PCl5 oS I
M 2

(2) Ammonia solution of alkali
metal is blu¢ in colour.

TR g3 G %91 339 et |

Write short notes on the following :
1%%x2=3

@S MACAT 8o[® 5] (O o

(1) Clatharate / GFIEA6

(2) Nitride / 5%

Write down the name of the
following complexes by IUPAC
system : ‘ Yax4=2
we fau whd @R 9W IUPAC
o forar :

K3 [Fe (C 204)], Feq [Fe (CN)6]3 ’
[CuCl,(CH3NH,),], [Cr(PPh3)(CO)5]
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(i)

(%)

(4)

What is chelate effect? Give one

application of chelate. Give the

structure of one hexadentate ligand.
1+41+1=3

foceb oo 2 fors® AR GBR IER
i 1 @B CTRICSTHB feromess a1 farar |

Give the structure of the following
xenon compounds. Also indicate the
type of hybridization of xenon in
each of the compounds : 3

TS il (8T (RIS A A
FANS (PS4 (T KT ]
TeEy 90

XeFy, XeOF,, XeFy

Calculate the N—O bond length
where covalent radii of N =075 A
and O0=074A, while -electro-
negativity of N =34 and Q = 3-7. 2

N—O It&a=. o o991 =41 T N3
A AT 27 0-75 A W 0% 0-74 A
QfEa Ryeaeer Na 3-4 =% O 3.7,
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(5)

4. Answer any two of the following : 5x2=10
TS faTaRe R e o Tew fore
(@ () Name two important ores of

manganese. How is it extracted from
its important ore? Why is MnQ} ion
pink in colour? 2+2+1=5

GRMER 1 70 WRIFT W o1 1 3
R R R e gm0
W ? MnO; W R comandh € =7

Or / 971

(@ How is K,Cr,O; prepared from
chromite ore? Give the reactions of
K20r207 with K4[FC(CN}6] and
NH,CI. 2+3=5
@AY HFRFA [ K,Cr,0, Ra
e W? K,Cr0,3 #e
K4[Fe(CNg] ™F NH,CH T&® @a1
faferm foran o

(bp) What is meant by trace elements in

A9/84

biological function? What is toxicity?
Mention the biological role of B, Ni
and As. 1+41+3=5
R R $e SRy 9 e {2
fgree 2 B, Ni W& As1 (&7 TREAS
il Sows w4 1

( Turm Over )



()

(6)

Explain chelate therapy. How cis-platin
acts as anti-cancer drug? Mention the
role of gold in medicine. 2+2+1=5
fores ol M 3911 fox-caifoe Femed
ma?w?tﬁswfﬁmwv S IR
i a9 |

5. Answer any two of the following : 5x2=10
o7 R R AT o T fora

(@)

(b)

A9/84

Write the Nernst equation at equilibrium.
Calculate the cell e.m.f. at 298 K of the
following cell :

Zn’Zn2+ @= 1)[|Pb2+(a= 1| Pb

Mention whether the cell reaction is
spontaneous or not. 1+3+1=5

S F+E FNFARH forar | TS fowr @R
298 K [yjesrer@ 3& 9191 341

Zn!an*' [a=1]”Pb2+(a=‘1)| Pb

Wmﬁmﬁm‘f‘@ﬂmmﬁ
41

() What is jon transport? How can you
explain the variation of molar
conductance of electrolyte with
concentration? Define limiting molar
conductance. 1+2+1=4
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(7)

we e R Rige Remm P9
szl smer e R AfRkafee =,
I 4| RS TR AR A
e :

(i) Calculate the number of cation and
anions per formula unit of the
electrolyte BaCl,. 1

BaCl, %@ 2 FCFS GFIT (IVHA
HE R FAM AT T

(c) What are different types of electrodes?

Discuss calomel electrode. 2+3=5
ffa Rycrem B R e fge
R SCAs 41 |

* k k
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